DK - - e e e e L EP D EYXER OB R H
W NN A b g 50T 5 & 1 A v BB~ Rl ?
CHBEMEEEDF NS BB S mEZE MV CRRR L E G T
RAoL LRy NE SRR RS B ¥ A GROEA &
R 7N - — A 7 D P L D I

Moo b B B < % B s x0T 2 4T 00 <k o

S ia~~~EREBHEATARNE Y ol B i o< t,
s Mg ~ R T & N2 o oMy

U ONHE SR~~~ 1OV ASIH g T R
BryS5aw- T  kRuEELumg FRSE G RE L Wb 3
SR 22 H EAEE-"X vEl0 Lo hE s 0 3
20 T TeE Rgrpn Cersudhs SER
! ( ?Eﬂ \‘ Eﬂ/\

& i WS wzzo>v écé‘*’i@%%ﬁﬁ%“i EE
QR ERN G GxCH ¥ BIEAICELHE  REIEND  H P -
T2 @if&%@ﬁ%d)é‘f“)i\bhd)%ﬂﬁ‘iﬁfﬁfl’ﬂﬁ%ﬁ%blgﬁ=
1§$'%‘F$ﬁ<'%ﬁélﬁéﬁ‘é?&mvn°7k1<010:¥67)ﬁth0)‘a*w

1 2| e M2 HERCETrYRBER "m “Z N0 E4L Sl g
) %’:B%T*ébio%o@@gﬁ?liﬂ*ﬁ?ZX%ﬁi?i&&%hﬁ%l. a)
AREHRF | pmude VvHLVEATARWAZI YD L ET bvic YT R
Mot |y > cdhicoTHh ErEBEICMEARNTS g B R
1amu|ch» aﬂ‘x%“’(&i@‘%?bﬁi{%&)/{:LO)Jcr“GJb%b\;thgDﬁ’@D
2pg|s K L I R oM A L b S
ga|ABil LT ALRXEER2HKB1IED To 2 E e

g B V2N :?ﬁé‘YSb\ff\‘i’:jb\ ‘iﬁzzoﬂj‘? % z

° % B¥ AR K RS ErETARALAC OBRM3IWMIT

BEERMRERNERR Wt : w1 o~

e WEH (7,/30~8,/3)| flEH (8,/13~17) |8/ 13L 7/ 16§ & DLt
o B % B C R fE Hb ) i e G E@) e G E@) e G E@)
| lcm | 50cm | 1m lcm | 50cm | 1m lcm | 50cm | 1m
IAEEE 1 GLEHHD 0.10/0.10/0.09/0.10/0.10[0.09(—0.01Z{tAL|ZlEL
Py PN 0.08/0.08/0.08/0.10/0.08[0.10[+0.01{Z{t%xL|+0.02
B O[30 3 (EESHHD 0.07(0.07/0.08{0.08/0.08[0.0 8+0.01ZftA&L &AL
A | AP 4 (0 i 0.10/0.10/0.09[0.09|0.07[0.0 9|%{t#xL|—0.03|]—0.01
- 5@?!&5%;1{;@;‘3%&5) ) 0.09(0.09/0.09/0.08|0.009[0.09|—0.02|—0.01|Z1txL
x| 6 73k =0
5;? SHEHER ( FE) 0.12{0.13/0.12/0.12/0.11[0.10[—0.02|]—0.01|—0.01
7 FHN (FE) 0.11[0.11{0.11{0.08|/0.08[0.09|—0.02|—0.02{Z{t%iL
8 bM< & (ki) 0.10/0.12[0.13/0.11{0.12[0.1 1{+0.01|+0.01{—0.01
9/ UV 0.12/0.12/0.12{0.12/0.11|0.1 3|4+0.02|—0.01|+0.01
105 (EA) 0.13/0.10/0.09/0.15[0.12[0.09|+0.04/—0.01{—0.03
LIAHHE (D 0.12/0.12(0.12[0.09/0.11]/0.1 1|{—0.01/—0.02|—0.01
i 12=5 (RE) 0.11/0.11/0.11[0.10[0.10[0.10|Zft#xL|—0.02|—0.01
2 138 (B) 0.110.12(0.11{0.11{0.10[0.1 1|4+ 0.02|Zft%L|+0.01
| 1ARRE Bk 0.13/0.13[0.13|0.14/0.13|0.12|+0.01|+0.01|Z{k#iL
ke 157350 (i) KpE  |0.13/0.13/0.12[0.15/0.14[0.1 3]—0.01|4+0.03|—0.01
16 1f1 (EEW () |0.10/0.11/0.12[0.09/0.11[0.1 1|—0.01Z{t%L|—0.01
1740 (b)) 0.11/0.11/0.11/0.09/0.10[0.10[—0.02[Z{t%xL|+0.01
18/ CIVH) 0.14/0.13/0.13/0.15/0.14[|0.1 4/+0.02|+0.01|+0.01
- 19445 (P9 0.13/0.13/0.13{0.13{0.12[0.1 1/—0.02|—0.02|]—0.01
2 200738 (BEKHD) 0.11[0.16/0.16{0.15{0.17[0.15/+0.05[+0.01Z{t#xL
21815 GHID 0.100.12(0.14{0.12(0.12[0.1 3|+0.02|Z{tkL|ZtEL
B 22/ GHOR) 0.12{0.15/0.15/0.16/0.14[0.1 3[+0.02|Z{t%L|—0.01
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